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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five of the following questions: 1x5=5

a) Predict the major product of the following

reaction:

CH3

CHs AIC,

trace of H,0, 25°C

b)  Which of the product is major and why?

OH CH5COzH OH OH

Ay —

c)  Write the structure of the reduced product

) ‘0
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d)

g)

h)

a)
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COOH
©/\/\
1. Na, Liq. NH3, EIOH | o
2.H,0% )

Mention two weaknesses of Cram’s rule.

Provide suitable reagent(s) to effect the

following conversion:

(0] OH
_— (o)

What happens when p-tert-butylphenol is treated
with conc. H,SO,?

Write the structure of the product:

OH H+

HC)\ > 7
TN

Give one principle of Green Chemistry where cost

effectiveness is given less priority.

Answer any two of the following questions: 5x2=10

1)  Give products of the following reactions

with mechanism: 2+14=31

(2)



d)

A

Give the example of Gilman cuprates reagent. Find
the reagents A, B, C, D. 1+4=5

-—  —— —B> \’//o

dé S

Answer any one of the following questions:

/W
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10x1=10

1)  Identify the products P and Q: 2
B NaODMe

mncog P —Q

11)  The following reaction scheme contains one
or more flaws. How would you correct the

scheme? 2

1. CH;MgBr

[
. e

2. 1,0° o
H5C
1. LiAIH,
@
2. H;0
H3C
(5) [Turn Over]
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ii1)) Predict the product(s) in the following

reactions along with stereochemistry

whenever applicable. 1+1=2
/E[
J— 0s0,
I) / H2 IXO ?
Et
CO,Me
1) EZTASTHCCICEING

iv)  Draw the structures of P and Q. 1+1=2

Me
l
> 4+ Cu ..,..,.é...,...,,. P+ Q
NO,
v)  Give mechanism of ester hydrolysis. 2
/‘Bu
0)
\ CF,CO,H
MeO,C —

(6)



i (excess)
I) i) POC13/DMF 9
ii) ©OH/H,0 >
OH
HCHO
1Y) e N

i1)  Write suitable reagent for the following

conversion: 1+
O
CH
C//
o Me
OH -

b) 1)  Predict the product with mechanism. 2

(0]
Br
/ NaOMe r)
11)  Give product with stereochemistry. 2
0\
b B—D
0/
Ph—C=C—D » 2
ii) CH,COOH
385/Chem. (3) [Turn Over]

111) Give the major product formed in the

dinitration of 4-bromotoluene. 1

c) 1) Carry out the following conversion using

Wittig reaction: 2

0O CHO

DR
e

i1)  Complete the following reaction (mention

only product): 2
CH,
1. BH,, THF, 160° C o 1. BH,, THF, 25°C
2.H,0,, "OH CH3C“”‘CHCHZCH3 2.H,0,, OH

111) The reactant, M in the reaction below can
be— 1

A) o-bromoanisole

B) m-bromoanisole

C) cither of o- or m-bromoanisole
D) None of these

OCH;
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b)
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1,3,5-Cycloheptatriene resonance energy
25 kJ/mol (5.9 kcal/mol). It is about six times
smaller than the resonance energy of benzene
— Explain.

Give the Kekule forms of naphthalene with

explanation.

What are the products of the following reactions?

3+2+(1x5)
Ph
; — 1. BoHg, dyglyme
1 >
2. H,0,/OH"
Et
Pt/H, (1 mol)
i) ‘ > 2
CH,CO;H
iii) PhCH = CHPh —2=tcxid 49
(E-isomer)
. @_ excess Cl,
iv)  PhyHC CHy ———=> 2
CCl, light
OH
V) H3C HZSO4 > 9
acetic acid

(7)



